EIRR RS AL ETE R 7 R E AL - 2 3 IR

== IH

= I AE AR EE) 12, dETREE O HEE IS
HEOHEFRIHVFL-DT, TRDEEBVEHFVEZL T I,
KHEPE : 32 ~— (@BEIlE (EEIED)). 33 2= (5B E) IcBJ % bl

(3¢

>

D

/, -
EhE Skl
@Bz (EEIIER) @Bz (EEIIR)
< BEtEfE> < BEtEfE>
BE | S | SHIGEE | SHITEE | HHI8FE BE | 21 [ SH6EE [ $HTEE | HHISEE
HEE | ABD 5,59 5,716 5,831 HfRE | ABS 5,542 5, 662 5,711
SHBEER| A 304 310 347 FHEER| A 302 308 345
SETR | $EW 19 51 51 ==TH | BT 19 5 3
(£25] BMEREFICHT OXMIE  XHH S FEDHFAIME (5%] 6URIESIBYPEME XM 5 EEDHLAME
JEH By | SHISEE | aN4EE | SMOFE EH A | AH3EE | SHAEE | ARSEE
MHE | ABS 5,416 4,090 5,858 fifEE [ AH% 5,416 1,090 5,750
ESUEE Y HN 256 226 309 EHEER] A 256 226 305
HEB | FEF 31 32 46 B S i 31 32 46
(2£] SMAEEICS T SEMAER (2260) OWR (BfL: N) [(5%] 4MAEEITHT 2 ERAER (226A) OHER (8 : A)
shEE | InEE | RuEE B HiEE | mEE | HwEs 5
EAEER 14(6%) 43(19%)]  169(75%) 0(0%) EHAEK 14(6%) £3(19%)[  169(75%) 0(0%)
<BiEC & DEEfE> <BIC & DEE(E>
B JELE] B | SH6FE | SHT7FE | SH8FE Elig IEE] B | SH6FE | SN7FEE | SH8EE
fIEE [ AES 546 559 573 fIEE [ AB% 492 505 519
il | ERAER] A 30 31 63 i | EFRAER] A 28 29 61
BEME | BFEM 1 2 2 BEMY | BEM 1 2 2
fIEE | ABS 3,914 3,948 3,990 fIFE | AB% 3,914 3,948 3,990
= ET=ET (DN 219 21 223 e |[ZHEER] A 219 21 223
_________________ a2 S W e L O] DO L) IO L | EEPRE BEPR %) 3T 3T
55 | AUBE LARZ ) 300 30100 ... 3,070 55 | tBE AR 300 3000 . 3,070
am | EHARE] AN L L] 1| 176 e | SHEER|] A | 176 [ 176
EXFE | B 3 3 33 BEM | BE¥Em 33 33 33
fIRE | ABH 382 382 390 fIFg | AB%H 382 382 390
AN | EFBEEH] A 17 17 18 AN | ERRESR| A 17 17 18
BEME | BEM 2 2 2 EEMY | BEM 2 2 2
fIRE | ABS 44 66 66 fIFE [ AB% 4 66 66
FE | ENBEER] A 2 3 3 FE | EFREER| A 2 3 3
EEME | BFEM 1 1 1 EXFE | B 1 1 1
fIEE | ABS 106 106 106 fIFE | ABS 106 106 106
K | ERREER] A 3 3 3 R [FHEEH] A 3 3 3
EEME | BFEM 1 1 1 BEME | BFEM 1 1 1
fIFE | ABS 316 319 322 fIFE | AB% 316 319 322
rE | EARAEHR] A 21 21 21 fE |FHEEHR| A 21 21 21
BEME | BFEM i 7 7 EXE | XM 7 7 7
HEE | ABS 288 336 384 MNEE | ABY 288 336 384
SAE [ =FEEHR| A 12 14 16 SALE | ERRES| A 12 14 16
R | B 1 1 1 EHE | BEF 1 1 1




ESIiEES SEFfTAD

QR BIRTIE XSM7E1 08 1 BRIETE ORHBIRTIE XSM7ET 08 1 BRLTE
< \BEHEE > < BEtiEfE>
=] Hy | SHM6EE | SMTEE | &S EE IEH B | FH6FE | fNT7EE | SHI8FE
FHRER] A - 84 196 XRBER| A - 84 195
=ETY | B2 - 2% 3 BEFHR | B2 . 26 34
<[ & ()=HE(E > <BEC - OS>
B | EE | B | SW6EE | SNIEE | SW8EE Big | BH | BfU | SH6FE | SHTEFE | SHSEE
i | AUEER] A - T 2 || pm DUEES] A - 7 21
NEEC S - 2 4 SRR | BEA - 2 4
N ESTEE TN - 54 143 || e EREES A - 54 143
We e (e - 2 5 | o i D 2 I
565 |=HEE®R| A |00 9 ||| 25 |EMAER] A |l S 17
s | e | e | e[ | | [ | sk [ G - 15 2
RET 1IN - 17 3 || xs 7%;”;%‘?& A - 17 23
B | BEF - 2 3 Fﬁ#{ e 30l 2 3
SETH | BEA . 1 1 2 R 3 )\F
B oty e - 0 || = B reas : 8 g
BEFH | BEA . 0 0 = F%@ )\F 3
5 seey 55 - 3 5 || 7% samw Tea7 . i ?
EEFH | DR - 1 1 AT i
sl RBEs] A - 1 IRIETT: if”;%?& A - 1 1
MEESCIESS - 0 0 AR | B 0 0




